THE WEST AFRICAN EXAMINATIONS COUNCIL, ACCKA
BASIC EDUCATION CERTIFICATE EXAMINATION FOR SCHOOL

CANDIDATES, 2025
FINAL MARKING SCHEME
MATHEMATICS2 , foc hstlo $0 $0
QUESTION - /( M A o c;lg
“ },0 SOLUTION memﬁ( l
- @0 U=(2,3,4,56,7,809 10,11, 12,...,20}
P={3,6,9,12,15, 18) ¥ B (aMd O Ln fy
Q=1{2,4,6,8, 10, 12, 14, 16, 18, 20} —\B
PNQ={6,12, 18) M1 for at least 2 correct 1[7[_
Al for all correct
(i) | Subsets of PN Q /—-ﬂ Lo Swbiets f
{ }’ {6}’ {lz}’ {18}’ {6’ 12}3 {61 18}: {lzs l8}’ {6’ 121 18} B4 (" 2 ee) /im fﬁ-
-1 omission of { } ~\- ‘“—‘L QI‘\ o
®) (i) 1 2 | P Acsee Pad @
—=3k—— Cramosy r3t naees ﬁow\vf\
i ¥ B¢ . il
1@ = 3k(xy) - 2&) Ml for clearmg fractions
R o T = |t My e
x = 3xyk — 2y s » anceflip)
x = y(3xk —2) St M for factorising
£ _ . B8 0 M1 for dividing through by
Grk-2) (Brk—-2) —0 S
r (xk-2)
Ll > _) Al fory = 3x:-2
(i) |[x=-1, K=2
-1
Y= 5w
3(-1(@) -2 > M1 for substituting
=4
y -—
'1_6 =2 > M1 for simplifying C &= 9:)
y=g J = %\/amnc,m.
Al fory == |
o = el e [15 Marks] |
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BECE (SC) 2025
MATHEMATICS 2
QUESTION SOLUTION
NO.
© 77 TALITER

M1 for R. H. S (denominator wjth one
term in numerator correct)

A1 for all correct

¥ X ‘
1" %x-2 ~~-;\ M1 for inverting both sides ~f |
X
= o el
y 3kx -2 z—————/) Alfory—m
/R*( be)
2
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BECE (SC) 2025 %%
MATHEMATICS 2 NS
3
QUESTION T SOLUTION MARKS %
NO. .
2. (a) 4000 x 0.35
T{; |
4% 103 x 34 x 192 E M for converting 0.35 or 0.05 to
W\ whole numbers
: L Al for all correct
*4xTx ¥ > M1 for simplifying
=28 x10° Al Al for28 ¢
i S—— V] Y Y |
(b) | Amount received on type P
y ;00,000 M1 for multiplying by 3

GH¢2,100,000.00 _ ;

Commission received on type P = 1—1& x GH¢2,100,04¢

GH¢210,000.00 —

Amount received on type Q

1,400,000
x4

i)

GH¢5,600,000.00 ~————PA1 for GH¢5,600,000.00

Commission received on type Q

% %‘} X GH¢5,600,0.00

LAl for GH¢2,100,000.00

Al for GH¢210,000.00

M1 for multiplying by 4

) 4
M1 for 100 x 5,600,000

M1 for siznplifying with evidence
el

GH¢840,000.00 —>| Al for GH¢840,000.00 !
Total Commission = GH¢210,000.00 + GH¢840,000.00 —| M for adding g B W N
- WwQ (gt
GH¢1,050,000.00 Al for GH¢1,050,000.0 v d Py ol
[15 Marks}/|
-l ou/wu or 2 d. p. once only i
>-47)

3
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| | QUES' TION]

NO.

2.00)

BECE (SC) 2025
MATHEMATICS 2

SOLUTION

10
c - - .
ommission type P = 100 x 700,000 > )

= GH¢70,000.00 ,.ﬁ

15
Commission type Q = — x 1,400,000——>

= GH¢210,000.00 ~— 1A

Commission on 3 type P = 3 x 70,000

&1

———BM for either 3P or 4Q

= GH¢210,000.00 __§ Al

Commission on 4 type Q = 4 x 210,000
= GH¢840,000.00 __,

Total Commission = 210,000 + 840,000 —
= GH¢1,050,000.00 — >

Al

MI
Al

| for evxdence of multiplicatigf
'\.b [ad o0 Od
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MATHEMATICS 2

| QUESTION

NO.

SOLUTION

[

e s o o

3. @@

(ii)

(iii)

(b) (1) [Volume of water used for cleaning

-5 -0

c=2a+b

B)=2)+(%) ——

-0

7
124
x

4 4 X

o >
~
=(3)-33) ——>
-(3-6)
=(39) ~——2
o (__15) ?
ld| = /(1)? + (=6)?

=+1+ 36
= \/37units ._..__._-—-—-——->

Il

—

1
X 4500

: —>

(3= )+ (%)
g \\\%\41 for equating components

N\ M1 for solving

M 1 for substituting a, b and ¢

_._:F e

Al forx= 3
C‘Luﬂ Seen l/“\'

Q- fygu
mean * Mo MoMOAD' \
|

M 1 for substituting vector a and ¢ 1

M1 for subtracting (to get | or -6) Gl( ,)
~hsj
1 ™
Al for (_ 6)

M1 for use of Pythagoras

Al for V37 units

|
|
|
|
M1 for product ,
i

A1 for 900 litres

= 900litres ,—\?
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|  QUESTION NO.

R

BECE (SC) 2025
MATHEMATICS 2

SOLUTION

MARKS

(iD)

Percentage of volume left in the tank

4500 — 900 = 3600 litres
0 Si (5 rat
P\JJNU/\A}—‘ boiw

_ 3600 % 10§

45}!}1

=80%
-1 ow/wu (litres)

~)M 1 for subtracting

ok

54 & b R fnad

-
-

Al for 3600 litres

¢

an furly,

M1 for finding the percenlagc ;

Al for 803(4; i
(15 Marks] |

VJ\&‘J""L’ fe ]QMG !

R
<

4. (a)

(b) ()

_53ddxfgxi}
T x v

£ 1

—

=53x6 ,___._——9

Third child = 20

2 2
§x+§x+5+20=x

2x+2x+ 25+ 100 = 5x
4x + 125 = 5x

»

5x —4x =125

x = 125 acres ,/

=GH¢31800 ____——>

Let the land the father shared be x acres
First child = —x /
Second child = —x +5 /

"fMl for clearing fractio

x..m\ f,,,,{ :

M1 for substituting into correct 5
formula .
Al for all correct

M1 for simplifying
Al for GH¢318.00

B1 for %x |

Blfor§x+5

M1 for L. H. S ;

Al for equation

| M1 for solving
Al for 125 acres
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= 36 x 100

=108 \}_@
N 100 '————/9
== :

= 33.33

=333 — >

MATHEMATICS 2
QUESTION NO. TSOLUTION ] MARKS
(ii) -A l?i;;_t.;hild shar.* _Z_X 125 M1 for multiplying b I—25 g
e=g S—" plying oy |
= 50 acres __,,_% Al for 50 acres '
Second child share = -Zs—x +5 L%’
=50+5 _ _>| Ml for adding
55 acres _,‘3 Al for 55 acres
iy -1 ou/wu or 2 d. p. ' [15 Marks]
5. (@) (@) Angle for fish 1 i
=360° - (54° +90° +36 + 108°) —| M1 for adding C nd w\
Y Al for 288
=360 — sl -
S 2.%?_ s ‘ > M1 for subtracting
- e Ol Al for72e [ o, USL N 5
\ V\.»gc,\,'J
(i) (o) | Weight of flour N\(D\ 5 Af
54
=350 X0 — Ml
54 I ¢ ;
= 3 — | Ml for simplifying m\a@{\&&v
N Wy dawdsell i yw &
= 3kg Al for 3kg lj) e
(B) | Weight of sugar as a percentage of weight of rice 3

Bl form

M1 for finding percentage

Ml for simplifying

Al for 33.3

e e
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M1 for ratio

MATHEMATICS 2
QUESTIONNO. |~ SOLUTION T MARKS |
. b) Student not “farfr;g: glasses =30-5 <=\ Bl for 25 with evidence > of subtgﬂ_gf
=28 _— Bo A ¢ wilsls 30-S)-
o
P(not wearing glasses) = ;—: \. M1 for -3% . L(L
Ty | ML for simplifying Qf_}}b}é e A i
s " QA LA 'L"“\‘\i
a1 _______; Al for; C
- i - ISM |
_pomm Ao A wed afe PVl
6. (a) Axes T — \) Bl —%ee for x-axis a0 < s
A line drawn from Kadumgu to Coolto ~ 1 : R
) Bl —-ee for y-axis Tir2
A line drawn during rest at Cooltown ;
¥ RRTRLY : 10
A Sins dovis S Dbt & Datan\ B1 for line with correct gradient (EE)
\) B1 for line from 60mins to 90mins Q
\\MI for line from 90mins to Datanu
. 30
| Al for correct gradient (23) .!
(b) (i) | Distance from Cooltown to Datanu |
= 40k — 10km or counting from graph| M1
=30km Al 2
(i) | 150 minutes ) Bl for 150 minutes} {
30km P g M1 for numerator k l
s i
(i) | Average Speed Tominies "-/S Nl S doncatisates |
= ;—km/minutes or 30km/h Al for %km/minutes or 30km/h 3
i
40 G BI for 150 i
(©) | Average Speed = 56 ‘
|

= -;S-km/minutes Al for%km/minutes j |
"gﬁ‘ [15 Marksli
s "N 3 SO A !
A“ —Tmm——
[ |
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